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[HW22] Present-day vs. 2050 (SCREAMVO):
(CTRL) PGW-HW22.20241104.CA3km-UV6h-520220901-04-SCREAMVO
(TEST) PGW-HW22.20241104.CA3km-PGW2050-ICsnew-s20220901-04-SCREAMVO
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[HW22] Present-day vs. 2050 (EAMv2):

(CTRL) PGW-HW22.20241122.CA3km-UV6h-s20220901-04-EAMv2fire
(TEST) PGW-HW22.20241122.CA3km-PGW2050-ICsnew-s20220901-04-EAMv2fire
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[HW?22] Urban-CTRL vs. Urban-1km (SCREAMvO):
(CTRL) PGW-HW?22.20241104.CA3km-UV6h-520220901-04-SCREAMVO
(TEST) PGW-HW22.20241206.CA3km-UV6h-s20220901-04-SCREAMVO-urbanlkm-CA
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[HW22] Urban-CTRL vs. Urban-1km (EAMv?2):

(CTRL) PGW-HW22.20241122.CA3km-UV6h-s20220901-04-EAMv2fire
(TEST) PGW-HW22.20250506.CA3km-UV6h-s20220901-04-EAMv2fire-urbanlkm-CA
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[TC23] Present-day vs. 2050 (SCREAMVO):
(CTRL) PGW-TC23.20250625.EPCAPE3km-UV6h-520230819-0O5-SCREAMVO
(TEST) PGW-TC23.20250625.EPCAPE3km-PGW2050-5s20230819-05-SCREAMVO
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[Dixie21] nofire vs. fire (EAMv2 UVnudge):
(CTRL) PGW-Dixie21.20250418.CA3km-UV50hU6hL-nofire-s20210808-041-EAMv2fire
(TEST) PGW-Dixie21.20250418.CA3km-UV50hU6hL-fire-s20210808-041-EAMv2fire
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[Dixie21] Present-day vs. 2050 (EAMv2fire UVnudge):

(CTRL) PGW-Dixie21.20250418.CA3km-UV50hU6hL-fire-s20210808-041-EAMv2fire
(TEST) PGW-Dixie21.20250418.CA3km-PGW2050-fire-s20210808-041-EAMv2fire
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[Creek20] CTRL vs. cirlweek (EAMv2fire):
(CTRL) PGW-Creek20.20250418.CA3km-UV50hU6hL-fire-s20200905-041-EAMv2fire
(TEST) PGW-Creek20.20250418.CA3km-cirlwee-fire-s20200905-041-EAMv2fire
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[Dixie21] nofire vs. fire (EAMv2 freerun):
(CTRL) PGW-Dixie21.20250418.CA3km-freerun-nofire-s20210808-041-EAMv2fire
(TEST) PGW-Dixie21.20250418.CA3km-freerun-fire-s20210808-041-EAMv2fire
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[Dixie21] Present-day vs. 2050 (EAMv2fire freerun):
(CTRL) PGW-Dixie21.20250418.CA3km-freerun-fire-s20210808-041-EAMv2fire
(TEST) PGW-Dixie21.20250418.CA3km-PGW2050freerun-fire-s20210808-041-EAMv2fire
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